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GS-O80
II Semester B'Com' Examination' May/June 2Ol9

LANGUAGE - SANSKRIT'II

HARSHACHARITAM' GRAMMAR AND TRANSLATION

(F+R) (CBCS) \2OL4-15 and Onwards)

Time : 3 Hours 
Max' Marks : 7O

Instructions : (i) Ansruer in Sansknt or Kannada or English'

(ii) Anstaer Q'/[os' I and VI in Sansk'it only'

r. q-d-qt{qsdt fd€( 1
dOoitod uugldddl" uOa a:doslO'

Choose the correct answer'

1. qMs fudr 6' r
(sI) Fq{rE: (er) $Ff<:

2. $RtFtil=ltfi'r S': ?
(el) qfisroT: (3aT) {{g:

3. ffiriq"eie.:5ofr? ^
(ei') {qrrlcT: (el) f,Rrcrd:

4. q-*nat *: qE {€Idea 3lqTE?

(el) e-{fu}: (e1) Srsfi:

5. leFr6mq: *r srFlTd-sq?
(q) q.k{r (3Tr) sff,{r

6. stsl-dt{lg nsqrfr qt?
(3{) Tqkfi (en) sdt4T

7. ETUr: €?qrgqftIi 6i l-fr(qqffi(?
(3r) r]-f,'I (3Tr) qg{r

8. s: q{s-tr{lFrf,Ifr T€T$sff: 3{rd-(?
(q) T€s: (edr; qq6'

s. '5ffi6q'fifi e-f,rr.n .rflffrqq?
(eT) q.EI (3{r) egsrqa

10. q{rgffrfqRdfirq{q s-al q': ?
(q) qtonrg: (3Tr) Eud

(E) efqef{'

(E) ggF:

(E) erfvvft:

(E) c-Sgt,

(q) o.f+cl

(e) r{Trs-*{{{:

(F) E-6"n

(€) {<Q:

(E) er€arFrs,r

(E) $lr{l:

({) fi+rqr{,

({) E{rEI:

(i) rrqq6:

({) setr*:

({) ftRsr

(d) srd

({) $"r

({) lltr€:

({) qfrq

({) ffi:

P.T.O.
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of prose

cs-o80

il. 6St Yr-cd' t-tt fcqn t

odd: $darltrrl er1)90's'

Answer anY two questions'

1. rrsrs.l-qs eqrui-sflRi-f{fiRi q qRrf.-s vq-*{ ICt€d I

rii:l^m;Ld e;deo-uudQ - efodd$adJOdl $alodd d:" adoalO'
rldSua{d e;deo-ou$9 

. ::d.*
*in" Jt eslaY about the definition origin and develoPment

ur.

2. {KEgq"Fi fr_{5n t
dddrdraddeordoS:d:"4d0.t', - cr^.
n*pi.in the description of Autumn Season'

3. EffiA f$Frd 4mrairrs ffi greo t

ddra3odoJog edra&dilad pedoddedd deordoScdoo adOa'

Explain the J"""' ipiott of 'srikantadesha' as narrated in

Haishacharitham'

qd-'(rfss{ri q-srsErsrqt 3{q.rii qlqqT er erSan gna r 
Lx72=L2

* )06*ntdrddddd er$a-o uofl aroi:---},,1:'*?u"n.

il:il;;;1;":' passase into Kannada or English

**gg*vgffi.
ffil$;+r#irfu;,, ry trRc sEcFirs-s-{ {5sr*.nrr:
s-fiqgffiiTqf,fr{cTo{*'f;' qstrel-*raffi' oiqr$" ffifrqnf q iri qqR:

qw*-ql't6: gqF{rq'Tlq tr " erercn/esd; o/oR'rqi'/ vi'--/ 
4:' 3c[{r {s qHgffidggl:'

qT'rs qF{R: frff{6-tcc-flr {u +<t** oEryg

illqft r<r'nqfr : rqrq-d {id f rd-a {t{l : el(t:'qs-dT"m T6""Ifl t' ?lry ^fl r{I 
qqAfqq'

rro*nssd cersr*" {T i;,$*S# **-*'' 
q.'qnn-

l i terature.

3. {-ofirq Effiqt

{?d$qltflqlst{qt 
qlocttrrS<'qi \"r" Y '|, 

g{g g€-ffr qe}*-qf
,lffi{' f{Rffi-"-4ft-{rs'r:, q6lFdgi€: q€Fhtfi{: wgx*q ll€r'r '*'tt':ttv''r'1r 

2x4=E
rv. Ed: qrfld: -{s<{ fr-{gf, I- 

"Oat 
ood5rldnb* dodeJsda"d sdO'l'j'

Explain with reference to context any two of the following'

1. I gq€di o-s q-ffqFki q q-{re+rqi *gtl

2. q'glTfioql'sl?ffi HT 45{: I

4. qqrfr..{TRilfl€]rltqrFFI{ul: cqTd t
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2.

3.

4.

vI. vq-fr
(a)

1.

3.

5.

7.

Change the voice of any two sentences'

1. rtvr: ur{rrsft t
2. $'ulleFI: IqTdl
3. fr6q1qra: qdil I

6d: egM fowat
iOat ta 

"l.f 
d$d dr o dJ o d*r t's { ed o3rdr" ar d ooo'

Write short notes on any two'

1. enl-redt

ldEM.

rnwqrswFr fue-or
qqni qqrcTri fuftqr*i F-f,r qqrs{H frsd I

ecdo ddrodrjurl aldood6dab" add': ddrddd dddd:. droal'l'

Dissolve any five comiounds and name the compound'

FwlE-f,{-dl 2. qqMFfft

r 4. {dfl$tl

6.

8.

{dvtfu: t
qqq?T\l

v.

GS-O80

2x2!z=5

5Xl  =J

2x2a/z=5

qqhw-d'iq

dMT{E:

€eds:

3T{rdrll

TII(.F{: I

(b) E*: qrffiq]: Yqliqfsdqa t

oddt aod,qrJd $ olneddd:a alderDoeJ&'

vII. SEI-S qttrqr 3Tr{m qlrffi ql sndsK gftf, |

dd"d erdo-o uoS arodrl esd)d"06'$'

Translate into Kannada or English'

qq{r: w} 3-sqt{ | tvi {nri{ Yfry gs qTI]-T11qtqfi$qqtrs etnlos:
,rqfr | gs, u-grdqr|el; sf,sk | ilg q{rtrr (f,: scTff{ q qEqq1<T I

J

-oOo-

P.T.O.


